at The Garden International School, Kuala Lumpur
www.gardenschool.edu.my 

Friday 20th February

3 sessions: each 11 teams of 3 students.  Introduction: 13:00

13:15

14:10

15:05
_______________________________________________________

All the questions relate to material found 
on the Oundle Mathematics web site: 
www.tsm-resources.com/mlink.html 

1.
A warm-up using Google as a Calculator



Check that entering 2*3 is correct! 




What is 2^100? 







What is this highest power of 2 it can calculate?  


Express that power in the form 2^n – 1 



Is this number a Mersenne Prime?





While on the Mersenne Prime site, 


how many digits is the latest discovery?      

2. Now for some Transformation Golf 

What is the first hole you can get a Birdie on?

(one shot less than the recommended ‘Par’)

  … and how?

3. 
Use the Interactive Currency Table:


Last year there were 0.20 Great Britain £ per Ringgit.


A holiday in Great Britain was then priced at £2500.  

The holiday is still priced at £2500.  You are paying in Ringgits. 

Will the holiday now cost you more or less than it did last year?











4. Use the Mind Reader

Try it out on a team-mate. 

Write down an algebraic expression that explains how this works.










5. The Java Slide Rule 

Find out how it works – hint: slide the middle portion “C” so that

the ‘1’ is against the ‘2’ on “D” to reveal the 2 times table.

Use the Slide Rule to work out to 3 sig fig:
(a)  2.34 2





(b)  6 / 1.23




6. 
Use Simon Singh’s Five Numbers BBC site.


Place the 5 numbers in ascending order. 

Feel free to miss one of them out 

   if you think it does not fit!


7. 
Use the Conics site 

Describe the conic section that represents 
  (a)  the path of a comet orbit



  (b)  the path of a waterspout




  (c)  St. Louis Science Center Planetarium

8.
Use the Who drives on the left site.

What percentage of the world’s population 

   lives in countries which drive on the left.
     
9. 
Use the Roman Calculator 
  to solve for x, giving  your answer in Roman!
  

IIII(XII x – XXXXVI) = VIII
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NO








2^10 – 1








1023








1.2676506 × 1030








Hole 3 (Par 4)








Rotate-Rotate-in, or Reflect-Reflect-in) 








MORE  [0.14 £/R]








10a + b – (a + b) = 9a








5.48








4.88














Ellipse








Parabola








Hyperbola








34%








4(12 x – 46) =8  =>  x = IIII,  should be ‘IV’








6 320 430








TEAM:








